



Nom: \_\_\_\_\_

Date: \_\_\_\_\_ Note: \_\_\_\_\_

$$3^{(-1)} + 5 =$$

$$(-1)^0 + 9 =$$

$$(-3)^2 - (-1) =$$

$$3^{(-2)} + 4 =$$

$$(-7)^2 + 7 =$$

$$6^2 + 6 =$$

$$10^{(-1)} + 6 =$$

$$(-4)^2 + 4 =$$

$$(-1)^{(-2)} - (-3) =$$

$$5^{(-2)} - 10 =$$

$$10^0 - 4 =$$

$$5^2 - 5 =$$

$$(-9)^2 - 7 =$$

$$2^{(-2)} - (-1) =$$

$$(-6)^{(-1)} + 4 =$$

$$(-6)^2 - (-3) =$$

$$(-7)^{(-2)} + (-2) =$$

$$(-9)^2 - (-10) =$$

$$(-3)^2 + (-1) =$$

$$4^{(-1)} + 4 =$$



Nom: \_\_\_\_\_

Date: \_\_\_\_\_ Note: \_\_\_\_\_

$$3^{(-1)} + 5 = \frac{16}{3} = 5\frac{1}{3}$$

$$(-1)^0 + 9 = 10$$

$$(-3)^2 - (-1) = 10$$

$$3^{(-2)} + 4 = \frac{37}{9} = 4\frac{1}{9}$$

$$(-7)^2 + 7 = 56$$

$$6^2 + 6 = 42$$

$$10^{(-1)} + 6 = \frac{61}{10} = 6\frac{1}{10}$$

$$(-4)^2 + 4 = 20$$

$$(-1)^{(-2)} - (-3) = 4$$

$$5^{(-2)} - 10 = \left(-\frac{249}{25}\right) = \left(-9\frac{24}{25}\right)$$

$$10^0 - 4 = (-3)$$

$$5^2 - 5 = 20$$

$$(-9)^2 - 7 = 74$$

$$2^{(-2)} - (-1) = \frac{5}{4} = 1\frac{1}{4}$$

$$(-6)^{(-1)} + 4 = \frac{23}{6} = 3\frac{5}{6}$$

$$(-6)^2 - (-3) = 39$$

$$(-7)^{(-2)} + (-2) = \left(-\frac{97}{49}\right) = \left(-1\frac{48}{49}\right)$$

$$(-9)^2 - (-10) = 91$$

$$(-3)^2 + (-1) = 8$$

$$4^{(-1)} + 4 = \frac{17}{4} = 4\frac{1}{4}$$